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53 K& FE KF out in total
1 SN EE 3 KRF AT 34 37 71
1 &R EKX 4 AFRIRF 34 37 71
3 Z 2 3 AKFBIRF 34 38 72
3 BHO B2 2 AFBIRF 35 37 72
5 Ex T 4 AKFBIRF 35 38 73
5 T ®AIZE 4 AKFBIRF 37 36 73
7 KB HETF 2 KERFEBRAF 36 38 74
7 N EEL 2 RIEHL KT 34 40 74
7 AL BETF 4 AT 35 39 74
7 2 &= 2 BREFRAY 36 38 74
7 wH EhR 4 KIREEEKRT 36 38 74
7 NE B 4 KREBRAFE 37 37 74
7 RS 4 AKFBIRF 34 40 74
7 BE LE 2 KFRIRF 36 38 74
15 A HE 3 FEBEEEKRT 38 37 75
15 INAE B5E 4 B AY 37 38 75
15 HO B 3 AKERFBRAF 38 37 75
15 FH Z 2 RIS KT 34 41 75
19 EAR FE 2 BEPEEIE KT 36 40 76
19 = 55 2 KIRFEBRAF 39 37 76
19 e B 3 AKFBIRF 37 39 76
19 RE-NES 2 BrEEAY 38 38 76
19 R 2 Pl e 37 39 76
19 FE HMA 4 KIREEEKRT 37 39 76
25 HE KT 2 B S 38 39 77
25 8% EF 4 KIRFBRAF 37 40 77
27 BEO KR 3 KIREEEKRT 39 39 78
27 B OEF 2 Pl e 39 39 78
27 ax 3 EHEAE KT 40 38 78
30 BEE Foh 2 KERFEBRAF 39 40 79
30 IR BB 3 AFBIRF 38 41 79
30 = 4 AT 38 41 79
30 KB =<5 3 Pl e 38 41 79
30 i SR 3 KIREEEKRT 40 39 79
30 EX BT 4 KRFFRATF 40 39 79
30 PIH FAE 2 KERFEBRAF 38 41 79
37 PR STRVF 2 EHEAE KT 39 41 80
37 &)l fak 2 BrEi Ky 40 40 80
37 KIBF =R 3 TRBRE AT 40 40 80
37 NS KGR 2 TBRF AT 42 38 80
41 Rl 8B 4 FRXFAT 41 40 81
42 BR B 3 Dk el 41 41 82
42 N BT 2 KERFEBRAF 43 39 82
44 FE EE 2 Pl e 44 39 83
44 =58 TE 4 B F R AY 40 43 83
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46 AR FTh 3 KRF AT 44 40 84
46 dH FELx 4 B KS 39 45 84
46 JIEE EE 4 B AY 43 41 84
46 #FE BE 4 KERFFRAT 44 40 84
50 B RATE 4 TR 41 44 85
50 KN B 4 TR 37 48 85
52 BAR HR 4 BEAEFRAY 39 47 86
53 HE AV 2 BIPE AR T 43 44 87
54 FH cBE 4 HEREAY 48 43 91
55 WNiE & 3 AFRIRF 45 47 92
55 WHE R 4 REHKRT 47 45 92
57 HH FEF 3 REREEXS 50 46 96
58 2B E 4 HEREAY 45 54 99
58 BN % 3 FEHKRT 50 49 99
60 T B 4 REHKRT 50 55 105
61 - 4 HEAEFRAY 53 56 109
62 hi HE 4 FEHKRT 57 53 110
63 sul R 4 FHEEARY 57 60 117
64 dTH MESR 3 FEHAT 81 63 144
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x5 BE =4 4 FEHKRT
x5 HFE HoY 2 EEEiIEAT
Ri5 BE SR 3 UmtEAY
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